PANEL POSITION ACCESSORIES QUANTITY
MINIFIX M5 x 24MM 14 PCS
MINIFIX CASING 14 PCS
WOOD DOWEL M8 x 30MM 14 PCS
/
SCREW M4 x 38MM 4 PCS
SCREW M4 x 28MM 4PCS
DRAWER SLIDE 14" 1 SET
/8) SCREW M3.5 x 12MM 12 PCS
PVC HANDLE 1PC
SCREW M4 x 28MM 2 PCS
12 PVCLEG 4 PCS
SCREW M4 x 38MM 8 PCS
/ /B -
1) POWER PIN 15 PCS
\I ALLENKEY 1PC
= A
\ II)J' | ﬂﬁ ‘ : e ’
HANDLE W'[TH CARE KEEP DRY HARD SURFACE




START ASSEMBLY












